asym_atl avg.mean/ppb

0o Mm
N~ O
- O
o Tk —
D i —
o -
O -
Y— ]
© —
c ]
~ ]
N ]
< -
* L1
o o o o o o o o o
o ) ) S S S ) S
S o o o o o o o
=) o o =) o o o o
F 8 8 3 T8 F ¥



asym_atl dd.mean/ppb

74.02/78

967

X2 [ ndf

+ 1174

1




asym_at2_avg.mean/ppb

73.9/78

x? [ ndf

1907

.

e T LT T T

60000 |

40000

20000

-20000
-40000
-60000
-80000



asym_at2_dd.mean/ppb

82.98 /78

x? [ ndf

754.7

20000




asym_atll.mean/ppb

71.53/78

977.3




asym_atllr2_avg.mean/ppb

74.5/78

1508




asym_atllr2_dd.mean/ppb

72.06/78
997

x? [ ndf

1814+

:

o

40000 T T T TT TP PP T T T TP F P T T T T T R oo Tres




asym_atl2.mean/ppb

75.48 /78

........
........




995.2

709/78

x? [ ndf

asym_atl_avg.mean/ppb

L L T T T T T

40000
30000F
20000
10000

10000

20000

~30000

—40000

~50000F




asym_atl_dd.mean/ppb

947.9

79.11/78

2

05

X2 [ ndf




asym_atrll2_avg.mean/ppb

70.22 /78

7+ 1831

........
........

Ll

60000

40000



_ ppb

atrll2 dd.mean/

asym_

90.74 /78

X2 [ ndf

..........




asym_atrl.mean/ppb

68.38 /78

|+ 2042

Y OO0 ST

L e e e e e e e e e e e e e ey

o
o
o
o
?



7474178

.........
.........

el L e e e e e e e e e e e e e ey

~100F



asym_atr_avg.mean/ppb

.................

69.52 /78
L+ 1999

X2 [ ndf
p0O

.........................

..................

..........

......................................

.............

................

.

b b A b b L L

20000

-60000

-80000



83.17 /78

30000



asym_bcm_an_ds3.mean/ppb

184.7

+
oe |9

7.095/78

62

=93

x? [ ndf




asym_bcm_an_ds.mean/ppb

181.6

+

7.146 /78

86 4

1

x? [ ndf

L e e e e e ey




asym_bcm_an_us.mean/ppb

182.2

+

6.975/78

23

L e e e e e e e e e e

3000
2000
1000

—-2000



asym_bcm_dg_ds.mean/ppb

182.7

4.676 /78

x? [ ndf

CLTTT T LT T T T T v e T T T T L T T T v e T T T T LT T T T T T eI T T T

4000
3000
2000
1000

—2000
-3000
-4000



asym_bcm_dg_us.mean/ppb

189.8

9.377/78

x? [ ndf

WL e e e e e e e e e e e e e ey




asym_ds_avg.mean/ppb

70.1/78

3

x? [ ndf

+

3294

L e e e e e e e e e e e e e ey




83.94/78

asym_ds_dd.mean/ppb

20000
15000
10000

5000



asym_dsl.mean/ppb

80.16 /78

9

596.6

+l

6




asym_dsr.mean/ppb

75.76 /78
903.5

x? [ ndf

L e e e e e e e e e e e e e ey




79.16 /78

_86.22

x? [ ndf

+574.8

g.mean/ppb

asym_left_av

15000

10000

5000

5000
~10000
~15000}
~20000



94.28 /78

.....................................

-

~1500 Mo -beb b bbb bbb bbb b bbb L L L



asym_right_avg.mean/ppb

515.9

76.07 /78

e




.mean/ppb

ht_dd

asym_rig

76.02/78

.0

x? [ ndf

45.07

8 4

L e e e e e e e e e e e e ey

l
o o o o o o
o o o o o
o o) o) o o
. oF



asym_sam_15 avg.mean/ppb

108.1/78

x? [ ndf

LI

NN NN RN

RENNNAN]

]'.

T e T

40000

30000

20000

10000

-30000

]l 7



asym_sam_15 dd.mean/ppb

108.7 /78

x? [ ndf

6 +479.1

.................

.........................

............................

..................

b b A b b L L

20000

15000

10000

5000



97.35/78

TITTTTT T LTI TTTT

.........

.........

T T

11T

I[RRRRNN

o

20000
40000 |-



asym_sam_26_avg.mean/ppb

96.28 / 78

—2941

x? [ ndf

+ 1815

el L e e e e e e e e e e e e e ey




asym_sam_26_dd.mean/ppb

4055

92.89/78

..............................

x? [ ndf

.............................
..............................
.........................
........................
.................................

..................

L e e e e e e e




asym_sam2.mean/ppb

94.7/78

X2 | ndf

x10°




asym_sam_37_avg.mean/ppb

83.04/78
273 £ 3499

x? [ ndf

x10°

............




asym_sam_37_dd.mean/ppb

5263

84.96/78

x? [ ndf

i

+

150 [ bbb bbb L b b



84.24 /78

P o o _ _ s
v S O

L e e e e e e e

o o o
o o
7 D

400
300
200
100



asym_sam_48 avg.mean/ppb

2101

88.7/78

...........




89.91/78

x? [ ndf

+ 3741

L




asym_sam4.mean/ppb

89.57 /78

y— -
© .
C -
(N ]
>~ ]
™ |- ”
ol-+ —
1 .
X # bbbl b -
o o o o
L0 o Lo o
: 7T g



asym_samb.mean/ppb

116.1/78

X2 | ndf

..........




asym_sam6.mean/ppb

x10°

87.54 /78

x? [ ndf

2649

000 HH P FF L A



asym_sam7.mean/ppb

87.61/78

x? [ ndf

1764

L e e e e e e e e e e e e e

40000

—-20000



89.77 /78

3+ 1566

PP L

i

I

b

i

|

—-20000



asym_us_avg.mean/ppb

301.2

70.52 /78

x? [ ndf

10000 f



asym_us_dd.mean/ppb

81.26 /78

X2 | ndf

455

15000

10000

5000




asym_usl.mean/ppb

78.15/78

554.5

15000

10000
5000
~5000
~10000
~15000
~20000



asym_usr.mean/ppb

76.39/78

AL L e e e e e e e e e e e e e ey

10000 |



ean/ppb

bcm_an_us ds3 dd.m

80.35/78
.1+14.43

el L e e e e e e e e e e e ey




3.5

2.5

15

0.5

bcm_an_us ds3 _dd.rms/ppm

htemp

Entries
Mean
Std Dev

79
12.87
0.1358

125

12.6

12.7

12.8

12.9

13

13.1

13.2

13.3

bcm_an_us_ds3_dd.rms/ppm




bcm an us ds3 dd

.rms/ppm

Lot

h IWYIR EE N S S
@ @ ~ 9
N N N N N
— i i i —



82.53 /78

~600 Hebehek b d e bbb g e b e b L b bl bbb L bbb e ]



bcm_an_us_ds_dd.rms/ppm

htemp
I Entries 79
Mean 13.2
Std Dev  0.1225

1 1

[EEN
N
©

13 13.1 13.2 13.3 13.4 135 13.6
bcm_an_us_ds_dd.rms/ppm



rms/ppm

bcm an us ds dd

.9_i_




reg_asym_atl avg.mean/ppb

54.38/78

S

15000
10000

5000

o

-5000 ;

-10000



reg_asym_atl avg.rms/ppm

————
]

htemp

Entries 79
Mean 349.6
Std Dev 8.728

QLT

w
W
o

360 370
reg_asym_atl_avg.rms/ppm



reg_asym_atl avg.rms/ppm

1

o
™
™



reg_asym_atl dd.mean/ppb

77.39/78

x? [ ndf

+ 389.2

L e e e e e e e e e e e e e ey




reg_asym_atl dd.rms/ppm

i

Il

htemp

Entries 79
Mean 347.5
Std Dev  10.38

[V

330

335

340

345

350

355 360 365 370
reg_asym_atl dd.rms/ppm



reg_asym_atl dd.rms/ppm




99.4/78

x? [ ndf

reg_asym_at2 avg.mean/ppb

S S . S 0 1 9 A
o

5000

o o
o o
o o
Lo o
— —

-5000
-10000




3.5

2.5

15

0.5

reg_asym_at2_avg.rms/ppm

htemp

Entries 79
Mean 302.6
Std Dev  25.56

340 360 380
reg_asym_at2_avg.rms/ppm



reg_asym_at2_avg.rms/ppm

380
6
340
320
300
280



reg_asym_at2_dd.mean/ppb

15000




reg_asym_at2_dd.rms/ppm

I

htemp

Entries 79
Mean 215.8
Std Dev  4.657

|

210

215

220

225

230

reg_asym_at2_dd.rms/ppm



reg_asym_at2_dd.rms/ppm




reg_asym_atll.mean/ppb

41.64 /78

x? [ ndf

502.8

L e e e e e e e e e e e e e ey




reg_asym_atllr2 _avg.mean/ppb

52.81/78
- 339.1

Lan

L e e e e e e e e e e e

20000 }:




reg_asym_atllr2_avg.rms/ppm

htemp

Entries 79
Mean 303.2
Std Dev 13.41

11—

290

300

310 320 330 340 350 360
reg_asym_atllr2_avg.rms/ppm



reg_asym_atllr2_avg.rms/ppm




reg_asym_atllr2_dd.mean/ppb

65.69 /78

x? [ ndf

340.2

10000

5000 f



reg_asym_atllr2 dd.rms/ppm

- htemp
o= Entries 79
= Mean 303.5
- Std Dev  6.932
3— . .
25
2 1
15—
1=
05—
=R L L, Ll
890 295 300 305 310 315 320

reg_asym_atllr2_dd.rms/ppm




reg_asym_atllr2 dd.rms/ppm




reg_asym_atll.rms/ppm

L

htemp

Entries

Std Dev

79

Mean 448.5

6.34

440

445

450

455

460

465

470 475
reg_asym_atll.rms/ppm




reg_asym_atll.rms/ppm

i




reg_asym_atl2.mean/ppb

368

95.77 /78

............
............

INENEEE N NN NN NN AN NN N R EEEEE

15000

10000



3.5

2.5

15

0.5

reg_asym_atl2.rms/ppm

htemp
Entries 79
Mean 331
Std Dev  26.05

330

340

350

360

370 380 390
reg_asym_atl2.rms/ppm



reg_asym_atl2.rms/ppm

300



reg_asym_atl_avg.mean/ppb

3118

+

57.82/78

2

472

x? [ ndf

L e e e e e e et




reg_asym_atl_avg.rms/ppm

htemp

—
—

Entries 79
Mean 278.7
Std Dev  10.76

—
I

|————lu(

280 290 300 310 320
reg_asym_atl_avg.rms/ppm



reg_asym_atl_avg.rms/ppm




reg_asym_atl_dd.mean/ppb

63.78 /78

el L e e e e e e e e e e e e e ey




reg_asym_atl_dd.rms/ppm

— htemp
o | Entries 79
- Mean 279
ST I Std Dev  9.67
4=
3— [ .
2 —
1
0 —[ | | | | | | | | | | HI | | | H | | ||7 | H IH | | | H | H | | | |
265 270 275 280 285 290 295 300

reg_asym_atl_dd.rms/ppm




reg_asym_atl_dd.rms/ppm

ANRARR

il

RRNNR

Lt

1111

PECEEEEE A

1.

FHHTT T

i

{1111

bt

i

1.

265{Ekii 111



g.mean/ppb

m_atrll2_av

reg_asy

68.84 /78

3525

+386.1

108 000 O 06 1OV

-10000



reg_asym_atrll2_avg.rms/ppm

htemp
I Entries 79
Mean 347
I Std Dev 26.5

L

380 400
reg_asym_atrll2_avg.rms/ppm




reg_asym_atrll2_avg.rms/ppm




reg_asym_atrll2_dd.mean/ppb

310

114.6/78

x? [ ndf

..... e

Y Y000 DOV S5V 0

INENEEE N NN NN NN AN NN N R EEEEE

o

-10000



reg_asym_atrll2_dd.rms/ppm

|

L)

htemp

Entries 79
Mean 276.6
Std Dev 4.664

I

270

275

285

290

reg_asym_atrll2_dd.rms/ppm




reg_asym_atrll2_dd.rms/ppm




83.47 /78
597

x? [ ndf

reg_asym_atrl.mean/ppb

L e e e e e e e e e e e e e e ey




3.5

2.5

15

0.5

reg_asym_atrl.rms/ppm

- htemp
= I I Entries 79
= Mean 533.4
- Std Dev 21.34
a1 (PP R I I 11 1 R 1V | T B A P P A P A T

500 510 520 530 540 550 560 570 580

reg_asym_atrl.rms/ppm




reg_asym_atrl.rms/ppm

in




reg_asym_atr2.mean/ppb

81.59/78

30000 ==

25000

20000

15000

10000

5000 f

~ 1000 e T T T T T T T



reg_asym_atr2.rms/ppm

htemp

Entries

Std Dev

79

Mean 408.5

22.4

440 460 480
reg_asym_atr2.rms/ppm




reg_asym_atr2.rms/ppm




77.06/78

.....
.....

PP A

25000F

20000

15000

10000

~15000f;



reg_asym_atr_avg.rms/ppm

htemp

Entries 79
Mean 369.8
Std Dev  23.08

2.5

15

0.5

W
w
o

HTTT

420

reg_asym_atr_avg.rms/ppm




reg_asym_atr_avg.rms/ppm

330 [EL 4444



an/ppb

atr_dd.me

reg_asym

92.55/78

x? [ ndf

+ 334.1




reg_asym_atr_dd.rms/ppm

——
—

|

htemp
Entries 79
Mean 298.1

Std Dev  5.519

1

N
©
o

305 310

315

reg_asym_atr_dd.rms/ppm




rms/ppm

_atr_dd

reg_asym




reg_asym_bcm_an_ds3.mean/ppb

17.77178

x? [ ndf

171.9

4 +

144

"

.

3000
2000
1000

-1000
—-2000



reg_asym_bcm_an_ds3.rms/ppm

L

I

htemp
I Entries 79
Mean 158.1
Std Dev  26.17

S0 1

120

140

160 180 200 220 240 260
reg_asym_bcm_an_ds3.rms/ppm



reg_asym_bcm_an_ds3.rms/ppm




reg_asym_bcm_an_ds.mean/ppb

18.28 /78

x? [ ndf

+ 169.2

L

141




reg_asym_bcm_an_ds.rms/ppm

N

htemp

Entries 79
Mean 155.4
Std Dev  25.45

WAL L

120

140

I
160

180 200 220 240
reg_asym_bcm_an_ds.rms/ppm



reg_asym_bcm_an_ds.rms/ppm

-




reg_asym_bcm_an_us.mean/ppb

18.89/78

x? [ ndf

+169.7

...................

AR

[T

T

1T

T T T T T T

-
-

4000 s T T T T T T T T T R

3000

2000
1000

—-2000
-3000

—4000




reg_asym_bcm_an_us.rms/ppm

htemp
I Entries 79
Mean 156
Std Dev 25.7

[}

180 200 220 240
reg_asym_bcm_an_us.rms/ppm




reg_asym_bcm_an_us.rms/ppm




reg_asym_bcm_dg_ds.mean/ppb

15.25/78
1+

139

x? [ ndf

170.3

el L e e e e e e e e e e e e

o o
o o
o o
N —

—-2000

-3000

4000 f



reg_asym_bcm_dg_ds.rms/ppm

htemp

Entries 79
Mean 156.6
Std Dev  26.05

200

220 240 260
reg_asym_bcm_dg_ds.rms/ppm



reg_asym_bcm_dg_ds.rms/ppm

L




reg_asym_bcm_dg_us.mean/ppb

177

20.35/78

x? [ ndf

5000
4000 |5

3000 fi

2000

1000

—-2000



reg_asym_bcm_dg_us.rms/ppm

htemp

Entries 79
Mean 163.4
Std Dev  28.35

R e

| | |
160 180 200 220 240 260
reg_asym_bcm_dg_us.rms/ppm



reg_asym_bcm_dg_us.rms/ppm

bl L e e e e e e e e e e e e e ey




reg_asym_ds_avg.mean/ppb

66.65/ 78

FLEEL

IRE

4000

3000




reg_asym_ds_avg.rms/ppm

htemp

Entries 79
Mean 103.4
Std Dev  5.891

B I e e

110 115 120 125 130
reg_asym_ds_avg.rms/ppm



reg_asym_ds_avg.rms/ppm

L0
AN

o
N

P D Y 1D 8 Y
Lo o Lo o
i i o o
i i — i



reg_asym_ds_dd.mean/ppb

73.39/78

x? [ ndf

..............

..............

~4000 ELb Ll L L L L L L L L L L L



reg_asym_ds_dd.rms/ppm

htemp

="

Entries 79
Mean 97.27
Std Dev 2.83

(RN N

(]
IS

98 100 102 104
reg_asym_ds_dd.rms/ppm



reg_asym_ds_dd.rms/ppm




71.81/78
163.2

reg_asym_dsl.mean/ppb




reg_asym_dsl.rms/ppm

0o e

htemp
Entries 79
Mean 146
Std Dev  7.312

[EEN
w
92}

140

145 150 155 160
reg_asym_dsl.rms/ppm



reg_asym_dsl.rms/ppm

el L e e e e e e e e e e e e e ey




reg_asym_dsr.mean/ppb

154

68.59 /78

x? [ ndf

I T T T LT T T T T




reg_asym_dsr.rms/ppm

— htemp
2= I Entries 79
B il Mean 137.7
10— Std Dev  5.855
8__
- Iiiil
6 i
s
2
93..H.H|...ﬂlﬂ...ﬂ.l....l....l..HH.lﬂ..H.l
30 135 140 145 150 155 160 165

reg_asym_dsr.rms/ppm




reg_asym_dsr.rms/ppm




g.mean/ppb

left_av

reg_asym

76.34 /78

x? [ ndf

CL e e e e e e e e e e e e e e ey




reg_asym_left_avg.rms/ppm

htemp

Entries 79
Mean 141.8
Std Dev  7.039

I LI I L I

140 145 150 155
reg_asym_left_avg.rms/ppm



g.rms/ppm

left_av

reg_asym

1’_




79.33/78

x? [ ndf

+28.12

an/ppb

_left_dd.me

reg_asym

...........

...........

THHB S SR

o o o o
o o o o
[¢) © < N




reg_asym_left _dd.rms/ppm

htemp
Entries 79
Mean 25.08
Std Dev  0.2426

25.8 26
reg_asym_left_dd.rms/ppm



.rms/ppm

left_dd

reg_asym

il

©
(Q\

el R e e
© © ¥ o ®© ® o
o) o) o) e} N < <
N N I\ N N N



reg_asym_right_avg.mean/ppb

64.71/78

x? [ ndf

..........

L A P

3000

2000

—-2000

~3000 f
-4000f



reg_asym_right_avg.rms/ppm

— htemp
12— Entries 79
B Mean 132.8
10— Std Dev  5.694
gl—
61—
4=
ol
B 1 1 H HI | 1 1 1 | 1 1 ﬂ 1 | 1 1 1 1 | 1 1 1 1 | 1 ﬂ H 1 |H 1 IH 1 1
5 130 135 140 145 150 155 160

reg_asym_right_avg.rms/ppm



reg_asym_right_avg.rms/ppm




reg_asym_right_dd.mean/ppb

82.82/78

x? [ ndf

NN NN NN NN RN RN RN NN NN




reg_asym_right _dd.rms/ppm

htemp

I

Entries 79
Mean 27.06
Std Dev 0.3735

B 161

N
o
[

27.5 28 28. 5
reg_asym_right_dd. rms/ppm



reg_asym_right _dd.rms/ppm

-




217.3

........................................

+

87.13/78

........
........

....................

reg_asym_sam_15 avg.mean/ppb

...............

..............

..........

12000
10000
8000
6000
4000
2000

el L e e e e e e e e e e e e



10

reg_asym_sam_15 avg.rms/ppm

htemp

Entries 79
Mean 201.7
Std Dev  44.87

160 180 200

220

240

260

280

300

320 340 360 380
reg_asym_sam_15 avg.rms/ppm



reg_asym_sam_15 avg.rms/ppm




128.9/78

8498

+ 307.6

bl L e e e e e e e e e e e e e ey

10000
-5000
~10000f;

~15000



reg_asym_sam_15 dd.rms/ppm

htemp
I I Entries 79
Mean 279.7
[ Std Dev  30.59

| ll
HHV 1| ——

220 240 260 280 300 320 340 360 380
reg_asym_sam_15 dd.rms/ppm



reg_asym_sam_15 dd.rms/ppm




reg_asym_saml.mean/ppb

119.2/78

~15000[EF bbb AP PP L L



10

reg_asym_saml.rms/ppm

L

htemp
J Entries 79
Mean 292.1
Std Dev  70.88

WL L

2

00

250

300

350 400 450 500 550
reg_asym_saml.rms/ppm



reg_asym_saml.rms/ppm

i




reg_asym_sam_26 avg.mean/ppb

75.66 /78

x? [ ndf

1218

+

120

=3

..............

.............




reg_asym_sam_26 avg.rms/ppm

I

htemp
I Entries 79
Mean 1088
Std Dev  41.46

1

050

reg_asym_sam_26_avg.rms/ppm



reg_asym_sam_26 avg.rms/ppm

L

1200 2

1100§

1050 f



reg_asym_sam_26 dd.mean/ppb

71.41/78

x? [ ndf

1067

bt - -

20000

10000

—-10000

—-20000 |

-30000 |



reg_asym_sam_26 dd.rms/ppm

htemp

Entries 79
Mean 954.3
Std Dev 34.76

880 900

920

940

960

980

1000 1020

1040 1060

reg_asym_sam_26_dd.rms/ppm



reg_asym_sam_26 dd.rms/ppm

1oeo§

1000



reg_asym_sam?2.mean/ppb

2215

72.28 /78

X2 [ ndf




10

reg_asym_sam2.rms/ppm

I

|

htemp
Entries 79
Mean 1979
Std Dev  64.58

1900

1950

2000

2050

2100

2150

2200 2250
reg_asym_samz2.rms/ppm



reg_asym_sam2.rms/ppm

T B B

2250

2200

2100

2000 f



reg_asym_sam_37_ avg.mean/ppb

73.46 /78

+452.4

el L e e e e e e e e e e e e e

15000

10000



reg_asym_sam_37_avg.rms/ppm

htemp
Entries 79
—[ Mean 447.3
Std Dev  153.8

300 400 500 600 7 800 900 1000 1100 1200
reg_asym_sam_37_avg.rms/ppm



reg_asym_sam_37_avg.rms/ppm




reg_asym_sam_37_dd.mean/ppb

80.32/78

x? [ ndf

L e e e e e e e e e e et

20000

15000

-10000



reg_asym_sam_37_dd.rms/ppm

- htemp
- [ Entries 79
B Mean 525.8
L Std Dev  109.1
I | O R APt 1 | PO I B P A | PRI O 1 O 1 |

400 450 500 550 600 650 700 750

reg_asym_sam_37_dd.rms/ppm




reg_asym_sam_37_dd.rms/ppm




reg_asym_sama3.mean/ppb

76.12/78

+ 969.5

30000

20000

—-20000



=
N

(BN
o

(0]

»

N

N

8

reg_asym_sam3.rms/ppm

— htemp
- | Entries 79
B Mean 933.8
- Std Dev  238.5
00 800 1000 1200 1400 1600 1800

reg_asym_sama3.rms/ppm



reg_asym_sam3.rms/ppm

1600
1400
1200
1000
800
600



reg_asym_sam_48 avg.mean/ppb

75.08 /78

x? [ ndf

0 [oajes]

;

..... SR

20000 [

—-20000



reg_asym_sam_48 avg.rms/ppm

htemp

Entries 79
Mean 605.3
Std Dev  77.12

E—
———1

IR A1 | e

500 600 700 800 900
reg_asym_sam_48 avg.rms/ppm

§_IIII|IIII|IIII|IIII|IIII|IIII|IIII|I



reg_asym_sam_48 avg.rms/ppm




88.38 /78

el L e e e e e e e e e e e e e ey

~40000F



reg_asym_sam_48 dd.rms/ppm

htemp

Entries 79
Mean 898.5
I Std Dev  70.73

11/ DT L

o—

(00}
o

850 900 950 1000 1050 1100 1150
reg_asym_sam_48_dd.rms/ppm



reg_asym_sam_48 dd.rms/ppm

el L e e e e




reg_asym_sam4.mean/ppb

81.97/78

WL e e e e e e e e e e e e ey




reg_asym_sam4.rms/ppm

htemp
I Entries 79
Mean 1476
_ Std Dev  137.9

1400 1500 1600 1700 1800 1900 2000
reg_asym_samd4.rms/ppm




reg_asym_sam4.rms/ppm

e L e e e e e e e e e e e e

1900

1700

1500

1400

1300



reg_asym_samb5.mean/ppb

117.3/78

434

......................................

10000

~5000
~10000 [
~15000



reg_asym_sam5.rms/ppm

htemp
| Entries 79
Mean 390.1
Std Dev  34.67

R 1111 N

w
o=
o

400

450 500 550
reg_asym_sam5.rms/ppm



reg_asym_sam5.rms/ppm




reg_asym_same6.mean/ppb

89.83/78

X2 [ ndf




10

reg_asym_samé6.rms/ppm

htemp

Entries

Std Dev

79

Mean 523.9

44.5

450

500

550

600

650

700

750 800 850
reg_asym_sam6.rms/ppm




reg_asym_samé6.rms/ppm




reg_asym_sam?7.mean/ppb

94.32/78

+310.9

4414

........
........

—-15000
el L e e e e e e e e e e e e



12

10

reg_asym_sam7.rms/ppm

ﬂﬂ.ﬂ.ﬂl...ﬂ.ﬂl....lﬂ...|ﬂ..

htemp
Entries 79
Mean 297.2
Std Dev  84.23

N
o
o

300

400

500

600 700
reg_asym_sam?7.rms/ppm



reg_asym_sam7.rms/ppm

R e

A

i

mn

R . A

[




reg_asym_sam8.mean/ppb

+453.3

111.1/78

X2 [ ndf

'!!- pO

15000
10000
5000



reg_asym_sam8.rms/ppm

htemp

Entries 79
Mean 411.9
Std Dev  49.48

MHHH L.

w
O
o

N
o
o

450 500 550
reg_asym_sam8.rms/ppm



reg_asym_sam8.rms/ppm




reg_asym_us_avg.mean/ppb

............................

+1111

......................

76.02/78

424

..............

x? [ ndf

...........................

.................................

.............

......

—-2000




reg_asym_us_avg.rms/ppm

htemp
Entries 79
” ~ Mean 99.47
Std Dev  5.526

A | N 1 1

100 105 110 115 120 125
reg_asym_us_avg.rms/ppm

©
a1



reg_asym_us_avg.rms/ppm




reg_asym_us_dd.mean/ppb

68.39/78

106.7

x? [ ndf

2000

1000

—-2000



reg_asym_us_dd.rms/ppm

htemp
Entries 79
Mean 95.31
Std Dev  3.058

I

I
100

102

reg_asym_us_dd.rms/ppm



reg_asym_us_dd.rms/ppm




reg_asym_usl.mean/ppb

81.08 /78
158.8

x? [ ndf

e e e e e e it




reg_asym_usl.rms/ppm

——
—
—

htemp
Entries 79
Mean 142
Std Dev  6.602

WAL T I

H
w
ol

140 145 150 155

reg_asym_usl.rms/ppm



reg_asym_usl.rms/ppm




62.18 /78
.1+149.1

........

x? [ ndf

reg_asym_usr.mean/ppb

.......

...............................

...............

..................

.........................

............

..................

........

T T T T T T

...................

3000
2000
1000
-1000
—-2000

-3000
-4000 f




reg_asym_usr.rms/ppm

htemp

Entries 79
Mean 133.4
Std Dev 5.44

..H.|....|....|.H.H..ﬂ.ﬂ..

140 145 150 155
reg_asym_usr.rms/ppm



reg_asym_usr.rms/ppm




